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Analysis: 2007 Task 2 - The Festival Accounts System (10%) 
 
Form of output 
Printout of accounts  
 
Information to output 
The expenditure 
The income 
The total money left 
 
The data needed to produce the output and the sources of the data 
On disk provided by Stuart  

The cost of each item bought 
The number of each item bought 
The amount received for each item 
The number of each item sold 

 

Desired outcomes and performance criteria 
I have to work out the total left 
I have to allow for more data items to be able to be added later 
I have to show all the individual costs 
I have to show all payments received 
I have to show the current total received 
I have to show the total spent 
I have to be able to change the number of items 
I have to be able to add new income and expenditure 
The final total must stand out 
I mustn�t allow more than 50 floats 
 

Testing 
It is needed for this spreadsheet  
 
 
 
 
 
 
 
 

The candidate has 
missed out two items 
from �Info. to output� 

The candidate has 
missed out one item 
from �Data needed�� 

The candidate has 
missed out one item from 
�Desired outcomes...� 

Comment: The candidate has used the �correct� headings from the Candidate Booklet, 
which may allow 7+ marks to be awarded. Overall the candidate has missed out 4 
statements which means he/she can�t achieve 9+ marks (3 or fewer omissions). In addition 
the �Form of output� is imprecise. However for more than 3 omissions but fewer than half, 
the candidate will be awarded 7-8 marks (8). 
Analysis is about identifying and categorising, so if the candidate hadn�t used the �correct� 
headings, then the maximum mark which can be achieved is 5-6. 
 
THE MARKING GRID FOR THIS TASK IS PRESENTED BELOW

Return Link to Instructions 

GRADE A: at 8 marks, 
this exceeds the standard 
(7/10) required 

http://www.aqa.org.uk/qual/gcse/ict_a_course_assign.php
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ANALYSIS: MARK GRID (GCSE ICT): SUMMER 2007 
 
 
Task 2 � The Festival Accounts System  
 

Form of Output 
2 printouts of accounts  
 
(1 form of output) 

 

 
Information to be Output 
The expenditure so far  
The income so far  
The total money left  
Total cost for each item  
Total received for each item  
 
(5 pieces of information to output) 

 

 
The data needed to produce the Output and the sources of the data 
Cost of each item bought on list provided by Stuart on disk  
Number of each item bought on list provided by Stuart on disk  
Amount received for each item on list provided by Stuart on disk  
Number of each item sold on list provided by Stuart on disk  
Headings for spending and income typed in  
 
(5 pieces of data and sources needed to produce the output) 

 

 
Desired Outcomes and Performance Criteria 
Must work out total left  
Must allow for more data items to be added later  
Must show all the individual costs  
Must show all payments received  
Must be clear which items are income and which are expenditure  
Must show the current total received  
Must show total spent  
Must be possible to change number of items  
Must be able to add new income and new expenditure   
Final total must stand out  
Must not allow more than 50 floats  
 
(11 desired outcomes and performance criteria) 

 

 
Testing 
Required  
  
(1 statement about testing) 

 

 
    Total criteria:  23 Return Link to Instructions 




